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No XTEEH—F Bf fEl | No XD —F
1 FOTSR(E) vs FarTv(#E) 14:15 1 FFHEBE(R) 3 vs 0 Nl ()
2 | FEKREDD) vs FOTSR(E) | 1425 | 2 FarT(HE) 0 vs 2 FFHBENER)
3 = (1IN 78:1079) vs EFAKREL)| 1435 | 3 FOTSR(E) 1 vs 3 FFHBENER)
4 FarT(E) vs e Fth(ER) | 1445 4 A FHBEN(R) 1 vs 2 | EFAKREVD)
5 FOTSR(E) vs Nl () | 1455 | 5 FarT7(#) 0 vs 5 | FAREVY)
x =

6 =11 718:1079) vs STHEBMN(ER) | 1505 | 6 FOTSR(&E) | & vs 0 FarT(#)
7 A FHBENTER) vs FarT(#) 15:15 7 | EFAXKEDD)| 2 vs 1 KT S5R(H)
8 AFHEBEMR) vs RYJS(HE) | 1525 | 8 | de)il #ith(m) | 3 vs 3 | &EFHXREVY)
9 | RFAKXKEVD) vs AFENER) | 1535 9 Far 7+ (#H) 3 vs 5 e fdER)
10 | &FAKEVD) vs FarT(#) 1545 | 10 | FHTSR(H) 3 vs 4 =(A1II 78::1079)
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